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Essential Skills Application of Number L2 Sample Paper 1

Guidance notes for sample paper mark schemes
Level 1 and Level 2

Notes:

The mark scheme has been carefully constructed to avoid penalising candidates repeatedly for
similar errors:

1) Principle of follow through applies throughout unless otherwise stated. This allows the
candidates to gain credit for subsequent correct calculation based on a previous incorrect answer.

2) Units or numbers shown in brackets on the mark scheme are not required for the awarding
of mark/s on the candidate’s paper. However, if a candidate states units they must be correct:

eg 24(cm) means accept 24cm or 24 but not 24m
eg (£)72.5(0) means accept £72.50 or £72.5 or 72.50 or 72.5

3) URT means unrounded, rounded or truncated; the underlining defines the acceptable limit
of approximation:

eg 860. 8652 URT (U is the unrounded version)
the following are acceptable: 860 (T) or 861 (R) 860.8 (T) or 860.9 (R) or 860.86 (T) or 860.87 (R)
or 860.865 (R) or 860.8652 (U) but not eg 900.

Total marks available: 50
Notional pass mark: TBC
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NB incorrect money format given as an answer should only be penalised once on the whole paper and
will lose 1 mark, eg Task 1C (£)55.5 loses one mark. Do not penalise any subsequent incorrect format.

Application of Number Level 2: Sample Paper 1 — Task 1

Question

Total
marks

Marks

Marks awarded for

1A

1

1

‘Booked’ indicated and valid justification eg The symbol in this position
(Row G, Seat 5) has striped lines through it which, according to the key,
means that the seat has already been booked.

1B

Ul =

E5 and E6

1C

‘Individual tickets’ indicated AND comparison of ticket costs WITH valid
explanation to show that individual tickets are cheaper
eg cost of family ticket (£)60 is more than cost of individual tickets (£)55.50

N

(£)55.50 for total cost of individual tickets and (£)60 for cost of family ticket

(£)55.50 for total cost of individual tickets

N W

(£)25.50 for cost of two child tickets
or (£)12.75 for cost of one child ticket
or complete correct method for cost of individual tickets with one calculation error

cost of family ticket (£)60
or (£)30 for cost of two adult tickets
or correct method for 15% eg x15 =100

1D

9:35pm WITH UNITS

9:350r2135

1E

12.5(cm)

0.125(m) for applying scale without converting to centimetres

+20 seen

1F

H=INDWI=(N

0.736m3or 0.74m? or 0.8m? for volume suitably rounded up and WITH
UNITS

w

value between 0.73(m?3) and 0.8(m?3) for volume to allow for use of 3.14 or more
accurate m or use of it button on calculator

correct substitution into formula

1.25(m) seen for radius of base

1G

12 (bags) of cement AND 18 (barrows) of sand AND 18 (barrows) of stone

12 (bags) of cement or 18 (barrows) of sand or 18 (barrows) of stone

2:3:3 ratio applied

=IN|WIHA=|N

2:2:3 ratio identified
or 6 seen for number of ‘0.3 m3 batches’ of concrete

1H

‘Yes’ AND suitable explanation comparing the 50kg bag with the 120lb
guideline

eg 120(Ib) +2.2 = 54.54545(kg) > 50kg bag

or eg 50(kg) x 2.2 = 110(lb) <120lb

54.54545 URT (kg) for conversion of guideline
or 110 (Ib) for converted weight of bag of cement

11

16(%)

N W

8/50 or 4/25 for the probability as a fraction

50 for total number of projects
or 19(%) for finding late projects as a % of on time projects rather than total projects

Total for Task 1 25 marks
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Application of Number Level 2: Sample Paper 1 — Task 2

Step

Total
marks

Marks

Marks awarded for

2A

2

2

straight line ‘through’ all the points showing positive correlation within the
tolerance shown in the diagram below

1

incomplete line of best fit ‘through’ some of the points showing positive correlation
within the tolerance

or sloping straight line with positive correlation outside tolerance with crosses
roughly balanced on either side of line

2B

valid comment about trend eg ‘As the temperature increased they sold
more drinks’

2C

number of cold drinks consistent with 24°C on their trend line +2 eg 140

value marked clearly on their trend line at 24°C

2D

115

complete correct method with one calculation error

460

172 or 173
OR value for 150% of their mean given to a whole number

172.5 or unrounded value for 150% of their mean if not whole number
or complete correct method with one calculation error

—_

57.5 or value for 50% of their mean

2E

‘No’ AND reference to their target and to a temperature
eg ‘140 < 172

eg ‘temperature needs to be 32°C to meet target’
follow through 2A, 2B and 2C

Explanation including reference to either the target or temperature or trend line
without a decision
eg ‘The trend line shows she will sell less’

2F

3 (layers) OR 5 (layers)

correct method seen eg 370(mm) =115 (mm) or eg 370(mm) +66(mm)

oreg 1 layer 115(mm), 2 layers 230(mm), 3 layers 345(mm) , (4 layers 460(mm))
or eg 1 layer 66(mm), 2 layers 132(mm), 3 layers 198(mm), 4 layers 264(mm), 5
layers 330(mm), (6 layers 396(mm))

2G

‘No’ AND 220 (cans bought) AND (only) 152 (cans sold)

220 (cans bought) or 152 (cans sold)

method for finding unit cost eg 121 +0.55 or 182.40 +1.20

55p seen for buying price or £1.20 seen for selling price

2H

(£)11.40

correct method for finding profit ie (£)182.40 - (£)171

2]

no
mark
for
repeat
calc

= =IN= (N WD

a complete correct check of any original calculation in 2G or 2H seen using
a different method
eg a reverse calculation OR a calculation using approximate values

2)

118.181818 URT (%)

1.18(1818181 URT)
or complete correct method with one calculation error

correct substitution into the formulaie m = % x 100

Total for Task 2 25 marks
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Example of Scatter graph for 2A

Temperature and number of cold drinks sold
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Content and Range Standard Level 2

Coverage and Range (Technical Skills)

a) Understand and use positive and negative numbers of any size in practical contexts

b) Carry out calculations with numbers of any size in practical contexts, to a given number of decimal
places

¢) Understand, use and calculate ratio and proportion, including problems involving scale

d) Understand and use equivalences between fractions, decimals and percentages

e) Use and understand simple formulae and equations for 1- or 2-step operations

f) Recognise and use 2D representations of 3D objects

g) Find area, perimeter and volume of common shapes

h) Use, convert and calculate using metric and, where appropriate, imperial measures

i) Collect and represent discrete and continuous data, using ICT where appropriate

where appropriate

j) Use and interpret statistical measures, tables and diagrams, for discrete and continuous data, using ICT

k) Use statistical methods to investigate situations

I) Use probability to assess the likelihood of an outcome

The table on the next page shows how each of the Coverage and Range (Technical Skills) standards are
assessed within this paper.



Content Statement / Total
1A 1B 1C 1D 1E 1F 1G 1H 11 2A 2B 2C 2D 2E 2F 2G 2H 21 2) Marks

Standard "

a) Positive and v v v v vl v v v v v v v v v v v -

negative numbers

b) +,-, x, + 1 2 v v 1 V| v v v v 2 2 1 v 9

c) Ratio, prop and v

scale 3 2 1 6

;i) De_umals, %, 2 1 2 v v v 5

ractions

e) Formula and

equations 1 Y 3 4

f) 2D and 3D objects 1 1 v v 4 2

g) Perimeter, area

and volume 3 2 5

h) Convert units v v 1 v 1

i) Collect & record

data 2 4 1 3

j) Usel/interpret stats

tables, etc. Y Y 2 1 v v v 1 2 3 1 1 Y 11

k) Use stats methods 1 1 2

1) Probability 2 2
Totals 1 1 5 2 3 4 4 2 3 2 1 2 6 2 2 4 2 1 3 50

*The marks in the final column give an indication of the degree of emphasis placed on different content strands. Note, however, that no marks are assigned to the first strand (a
— whole & negative). This is because engagement with whole numbers characterises almost every question in the assessment. Negative numbers are not directly assessed in
this paper.



Mark distribution per Skill Standard

Question

Mark

Represent

Calculate

Interpret

1A

1

1B

—_

1C

1D

1E

—_

1F

N

1G

TH

11

2A

NTWIN| MDA WIN|O

2B

—_

2C

RN

2D

2E

2F

2G

2H

NIBININION

=N =N

2|

—_

2)

w

Totals

50

15

20

15

%

30%

40%

30%

% of total
questions
% of total

marks

Question Type

Fixed | posponse
v
v
v
v
v
v
v
v
v
v
v
v
v
v
v
v
v
v
v
10.5% 89.5%

4%

96%




